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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) udienedf Gauem 319+ U9 UF W AR SAfHarEa: o |

Candidates must write first his / her Roll No. on the question paper
compulsorily.

2) uW uvA e e E |

All the questions are compulsory.
3) Yk U¥H T ITW & TS I-Yferen | & ford |

Write the answer to each question in the given answer-book only.
4) v o i g §, 37 @it o W e | g o)

For questions having more than one part, the answers to those parts
are to be written together in continuity.
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5)

6)

7)

8)

9

2
YU % <t 9 SISt TR | foredt weRR i Je / e / forien e g W et v 6
T < € HE A

If there is any error / difference / contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.

R T T 3H TH T
H 1-10 1
9 11-15 2
q 16 -25 3
3 26 - 30 6

Part Q. Nos. Marks per question
A 1-10 1
B 11-15 2
C 16 -25 3
D 26 -30 6

UvA Uik 27 9 29 # ek faeked §

There are internal choices in Question Nos. 27 and 29.

U SR-Yferert & USt o g1 3R foRan) afe @iig 1 % e @, @ Sw-giere &
3ifem gsi W 3R 3% foRest oimet | wee A W T % forw 3

Write on both sides of the pages of your answer-book. If any rough work is
to be done, do it on last pages of the answer-book and cross with slant lines
and write ‘Rough Work’ on them.

U9 SHATH 26 1 A@TE UTH UTR W S9150|

Draw the graph of Question No.26 on graph paper.
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2)

3)

4)

5)

o - A

PART - A

= FiReem 1 w&@m e 105 1 & 7 i) [1]

Find the square of 105 by using ‘Sutra Nikhilam’.

e wfieron &1 gt 7 A [1]
2(x+2)=7(x+2)
Solve the following equation:

2(x+2)=7(x+2)

T FAERA N IUAEA 12960 3 aUT HETH THIEE 18 g @ TTgwH FHHae 7 Sitel[1]

If product of two numbers 1s 12960 and HCF is 18 then find their LCM.

"M A /U - 3 cos 30° — 4 cos® 30° [1]

Find the value :- 3 cos 30° — 4 cos® 30°

sec36° sec54°

- 1 WM A hifag| [1]

cosec54° cosec36°

sec36° secS54°

Find the value of c05ec54°  cosec36° -
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6)

7)

8)

9)

10)

4
foret Praget 3 it & T fomg fofam) [1]

Write the point equidistant from the vertices of the triangle.

5 . foreen a9 3 g @ 13 . 70 W R fig @ iR T v Y B o T
i) [1]

Find the length of tangent of circle with radius 5 cm drawn from the point 13 cm
away from the centre of the circle.

T UTH i Bl W ‘47 | BieT 31k 3T I TRIhar i hifee| [1]

In a throw of a dice, find the probability of getting a number less than ‘4’.

aTel o ot arravaes Wi, g, . w1 gu Am falem) [1]

Write the full name of P.U.C. which is essential for vehicles.

T FR 3 e | uge, 6 fime | gaw, 9 e § dau g e ur wwdt g, @ ag 13 at
et forem @wa © UR T ? [1]

A car passes through first signal in 3 minutes, second in 6 minutes, third in 9
minutes. In how much time it passes through 13" signal?
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PART - B
11) o3 wad snenfa fafe @ e =& ga dik) [2]

14885 +123
Solve the following by using ‘Sutra Paravartya’.

14885 +123

7
12) ufwa s=n 20 1 YA TER i g T 38 3| fomn fwrem ufskan &1 su= = 3@

) [2]

State whether the decimal expansion of a rational number 20 1S terminating or non

terminating recurring. Without performing the long division method.

13) 14 =it B o 3w o Freoavs g g W staia &t 90° 31 39 & &g Breoave & 9 i
TS A i [2]

Angle subtended at the centre by the sector of a circle with radius 14 cm is 90°.
Find the length of the arc of the minor sector of the circle.
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14) U I & SNUR * AW 14 Hier iR fodier Fag 25 Hiex @ @t vigh 1 AUt gsiE &5t [

HifTu) [2]
Find the total surface area of cone whose diameter of base is 14 m and slant height
1s 25 meter.

15) U g 9 § Hier I TEH o NN W A At FHN 38 TR @ w4 g R 10 Wi | gfe
TG A AT S AT Hhedl 2| T h TR SR W18 g fAfHa SemeRr 89 st e

fif (7=3.14) [2]

A CCTYV camera has installed on the top of a straight pole of 8 meter height such
that forward traffic can be seen from the line of sight of 10 meter. Find the area of

circular path formed by shadow around the pole. (7 =3.14)

R L I S |
PART - C

16) Tgam agug X% — 2x — 15 % Y [T HIT 7R 36 TgUG o AR A1 UITER o AL Y
H weda ht A R [3]

Find the zeros of a quadratic polynomial x* — 2x — 15 and verify the relationship
between the zeros and the coefficients of this polynomial.

17) afq foret TmT=m SIdt & TR 3T e Ug shAwT: 24 a1 28 g dl, SIdt & uget 61 Ual 1 anTwe
T iR [3]
If second and third terms of an A.P. are 24 and 28 respectively, then find the sum
of first 61 terms.

18) U 12 Hiex 3o Ug a1 ga1 | 38 UHR 2 AT ¢ foh 3ot yiid Sifia st 97 onmen @ SiR wwfia
o T 30° S HIT ETAT 3| A g © U, A W foRat S ¥ Zer, 7 i) [3]
A vertical straight tree 12 meter high is broken by strong wind in such a way that its

top touches the ground and makes an angle of 30° with the ground. Find at what
height from the ground did the tree break.
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19) w= & snem BC w & fiyst AABC wa ADBC &+ €1 afg AD @ BC w&R O W ufiesg i
at forg Fifo ik -

AABC sigmwar  AO 3
ADBC migmwat DO 3]

AABC and ADBC are at the same base BC. If AD and BC intersect each other at
O then prove that -

area of AABC AO
area of ADBC DO

20) &t 7§ sngkfa ® wgHsw ABCD ® AB = AC = AD =, @t fag sifwe &
ZBAD=2(/BDC + ZCBD). 3]

BD

In the given figure a quadrilateral ABCD have AB = AC = AD, then prove that
ZBAD=2(£BDC +£CBD)

S-09-Mathematics 5305 [ Turn Over



8

21) AABC & 4= BC @i ue g farg P W aTey Tavi o 8 aen or &t q=niait AB @ AC &t

22)

23)

24)

TEH W HA: farg Q @ R R wawt o g, it frg hifrg fon AQ=%(AB+BC+CA)
[3]

A circle touches the side BC of AABC at point P externally and touches other two
sides AB and AC when produced at point Q and R respectively, then prove that

AQ:%(AB+BC+CA).

AABC & ufema g it T hifse, siafes BC = 6 @i, AB = 5 @t sik £B=60° A
[3]

Construct a circumcircle of AABC, such that BC = 6 cm, AB = 5 cm and
ZB=60°

Tk o <ht o 21 T, @ e Shen grt sheg W SR ot 90° 31 39 St g1 s o7y JaEne
1 A% A i) [3]

Radius of a circle is 21 cm and angle subtended by a chord at the centre is 90°.
Find the area of the minor segment formed by this chord.

Teh 4Tg o Ten frereht Breen 9 o, 2, ot fueretest 3 wdt. Breen o 6 Tt g o feRen
AT SATC T T § 2 [3]

How many cylinders of radius 3 cm and height 6 cm can be formed by melting
sphere whose radius is 9 cm?
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25) ww S H 5 Ahe, 2 A1 o 3 el 72 31 36 Ot # @ U e angesa Rl S 31 3uh @
M g R Rt e . Huill [3]

) e
) A
i) @wTeR

A bag contains 5 white, 2 red and 3 black balls. From this bag one ball is drawn
randomly. What is the probability that the drawn ball is

i) White
i) Red
iii) Black
"ot - ¢
PART - D
26) T e witentor gm i e faft g ga PRl [6]
4x — 5y =20
3x+5y=15

T TEEAT | 1’ W W @ <hITe Fateh 4x + 3y = m

Solve the following pair of linear equation by graphical method
4x — 5y =20
3x+5y=15

With the help of this find the value of ‘m’ while 4x + 3y = m.
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27) fag S [6]

28)

) I-sinA )} 1
) 1+sin A secCA + tan A
i) (sin@ +cosect9)2 + (cos@ + secé?)2 =7 +tan’ @ + cot’ @

Prove that :

) l-sinA | 1
1) 1+sin A sec A + tan A

i) (sin@ +cosect9)2 + (cos@ + secé?)2 =7 +tan’ @ + cot* @

Fa/OR
fog fifkm) [6]
)  cos*'@+sin*@=1-2cos*Hsin’ @
2 —
iy cotA—tanA= M
sin A cosA

Prove that :
i)  cos'@+sin’*@=1-2cos*Bsin’ @

2cos’A—1

iy cot A—tanA =—
sin A cosA

) x-31e W o fog T hifsre s fargatt (-2, 3) oiR (=3, 4) @ wAm gft W e R
Find the point on x-axis which is equidistant from the point (-2, 3) and (-3, 4).
i) Terge (11, 8) 3R (1, 3) =t foretm aredt W it famg (7, 6) Torer s1guma # fawniora shtan
27
In which ratio, point (7, 6) divides the line joining the points (11, 8) and (1, 3).
[6]
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29) fag hRTE foF T U gR 9@ & g W FFRA HIUT IA o AW HET & et forg W eaia
SRIUT ST SR Bl 2 [6]

Prove that the angle formed by an arc on the centre of the circle is twice the angle
formed at any point of remaining part of the circle.

3rar/OR
fag e &t forelt T i T Y1 TEA W T T SESRIUT SR SRS 60T %
TR T, g Tk Hh agH g 2| [6]

Prove that an exterior angle formed by increasing side of a quadrilateral is equal to
the interior opposite angle, then it is a cyclic quadrilateral.

30) frm= ST se o AL 9 ageTeh A i) [6]

Bl 0-10 | 10-20 | 20-30 | 30-40 | 40-50

I 6 10 13 7 4

Find the mean and mode of the following frequency distribution -

Class| 0-10 | 10-20 | 20-30 | 30-40 | 40-50

I 6 10 13 7 4

363636
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